STRIPS Representatic

State-based view of time.
The actions are external to the logic.

Given a state and an action, the STRIPS representat
used to determine
|1 whether the action can be carried out in the state

L1 what is true in the resulting state
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STRIPS Representation: |Id

Predicates ar primitive or derived.
Use normal rules for derived predicates.

The STRIPS representation is used to determine the
values of primitive predicates based on the previous
and the action.

Based on the idea that most predicates are unaffecte
a single action.

STRIPS assumptionPrimitive relations not mentione
In the description of the action stay unchanged.
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STRIPS Representation of an ac

The STRIPS representatiofor an action consists of:

preconditionsA list of atoms that need to be true for the
action to occur

delete list A list of those primitive relations no longer tru
after the action

add list A list of the primitive relations made true by the
action
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STRIPS Representation of “picku

The action pickup/Ag, Obj) can be defined by:

preconditions[autonomouBAg), Ag # Obj, at(Ag, Pos),

sitting at(Obj, Po9]
delete list [sitting_at(Obj, Po9]
add list [carrying(Ag, Ob))]
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STRIPS Representation of “mo

The action movéAg, Pos, Pos) can be defined by:

preconditions[autonomou@Ag), adjacentPos, Pos, S) ,
sitting at(Ag, Pos))]

delete list [sitting at(Ag, Pos)]
add list [sitting at(Ag, Pos)]

m
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Example Transitio

sitting_at(rob, 0109).

sitting at(parcel, storage.

sitting at(k1, mail).

moverob, 0109, storage
—

-

R~

, sitting at(rob, storage.

sitting_at(parcel, storage.

- sitting_at(k1, mail).

sitting _at(rob, storage.

pickup(rob, parcel)
—_

carrying(rob, parcel).

sitting at(k1, mail).

Ry~

]


http://www.cs.ubc.ca/spider/poole/ci.html

